VCE & PDF https://www.passapply.com/1z0-064.html
2024 Latest passapply 120-064 PDF and VCE dumps Download

PassApply.com

170-0649%As

Oracle Database 12c: Performance Management and Tuning

Pass Oracle 1Z0-064 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/1z0-064.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 120-064 Dumps | 120-064 VCE Dumps | 1Z0-064 Practice Test 1/4


https://www.passapply.com/1z0-064.html
https://www.passapply.com/1z0-064.html
https://www.passapply.com/1z0-064.html

VCE & PDF https://www.passapply.com/1z0-064.html
2024 Latest passapply 1Z0-064 PDF and VCE dumps Download

DacocAnmnilvyv ~coam
':-)f,-|_ :_‘.-;.;--,”..i NVY.COI

QUESTION 1

In your database, supporting an OLTP workload, the SALES table is range-partitioned on the SALES_DATE column. A
new partition is created every quarter and is frequently used for updates and queries. You recently noticed degraded
performance of queries on a new partition due to stale statistics. A local partitioned index exists on the SALES_DATE
column.

What would you recommend to improve performance?

A. dropping the local partitioned index and creating a global partitioned index on the SALES_DATE column

B. setting the INCREMENTAL preference to TRUE and the NO_INVALIDATE preference to TRUE for the partitioned
table while gathering statistics

C. setting the INCREMENTAL preference to TRUE and the CASCADE preference to FALSE for the partitioned table
while gathering statistics

D. setting the INCREMENTAL preference to TRUE and the GRANULARITY preference to AUTO for the partitioned
table while gathering statistics

Correct Answer: D

QUESTION 2
Which four statements are true about Consolidated Database Replay?
A. Multiple replay schedules can be defined and any existing replay schedules can also be used.

B. Multiple database workloads can be replayed only if both the capture and replay databases are on the same
operating system.

C. The replay starts simultaneously for all participating workload captures if no order is defined in the replay schedule.
D. Consolidated workloads from one or multiple databases can be replayed concurrently on a single system.
E. A subset of the captured workload can be replayed on a test system.

F. Multiple database workloads can be replayed only if both the capture and replay databases have the same database
version.

G. The number of replay clients must be equal to the number of captured workloads.
Correct Answer: ACDE

Reference: https://docs.oracle.com/en/database/oracle/oracle-database/19/ratug/using-consolidateddatabase-
replay.html#GUID-BBC96414-F08A-4D57-BA72-B28C1BBEE9F2

QUESTION 3

Examine the partial PLAN_TABLE output:
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Plan hash wvalue: 568005898

| Id | Operation | Name |
| 0 | SELECT STATEMENT | |
| 1 | MNESTED LOOPS | |
| 2 | TABLE ACCESS BY INDEX ROWID | DEPT |
| 3 | INDEX UNIQUE SCAN | PE_DEPT |
| 4 | TABLE ACCESS FULL | EMP |

Which is the correct sequence of execution? (Choose the best answer.)
A.3,2,1,4,0

B.0,1,2,3,4,1

C.0,4,1,3,2,1

D.3,2,4,1,0

E.3,2,4,1,0,2

Correct Answer: A

QUESTION 4

In which three situations can dynamic statistics be used? (Choose three.)

A. when the sampling time is a small fraction of the total time for a query

B. when an execution plan is suboptimal because of complex predicates

C. when extended statistics are not available for SQL statements that use complex predicates

D. when a query is on a partitioned table with a global index

E. when index statistics are missing on a column that is used in SQL statements with highly selective filters

Correct Answer: BCD

QUESTION 5

You are administrating a database that supports an OLTP workload. A few users complain about the poor performance
of some SQL statements. You notice that these SQL statements belong to different applications and conclude that there
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is no correlation between them. You create a SQL Tuning Set (STS) containing these SQL statements.
What must you do to analyze and generate recommendations for the SQL statements in the STS?

A. Submit the STS as input to the SQL Performance Analyzer to generate recommendations for creating indexes and
materialized views.

B. Submit the STS as input to the SQL Tuning Advisor to generate recommendations for indexes or SQL profiles or
both.

C. Submit the STS as input to the SQL Tuning Advisor to generate recommendations for SQL plan baselines.
D. Submit the STS as input to the SQL Access Advisor to generate recommendations for SQL profiles.
Correct Answer: C

Reference: https://docs.oracle.com/cd/E11882_01/server.112/e41573/sqgl_tune.htm
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